Exercice 1

Evaluer les expressions suivantes

1. —z—5enz =6 4, —10224+zx—6enz =7

2. —x+8enz =1 5. —10z2+xz—6enz = —5
3. —z+8enz =3 6. —1022+ 2z +10enz =8

Exercice 2

Réduis les expressions suivantes

1. A=x+1+2—4 4, D=—-442x —10— 10z

2.B=2x+6+3+2—-6 5 E=—-1—-8+48x+6—4x
3. C=-3z+5+5x 6. E=22+3+4+32x+3—10x

Exercice 1

Evaluer les expressions suivantes

1. —z—5enz =6 4, —10224+zx—6enz =7
2. —z+8enx =1 5. —10z2+xz—6enz = —5

3. —z+8enx =3 6. —1022+x+10enz =8

Exercice 2

Réduis les expressions suivantes

1. A=z +1+2—-4 4, D= -4+ 22— 10— 10z

2.B=2x+6+3+2x—-6 5 E=—-1—-8+48x+6—4x

3. C=-3z+5+5x 6. E=224+34+3z+3— 10z
Exercice 1

Evaluer les expressions suivantes

1. - z—5enxz =6 4, — 10224+ zx—6enz =7
2. —z+8enx =1 5. —10z®°+z—6enxz = —5
3. —z+8enz =3 6. 1022+ z+10enxz =8

Exercice 2
Réduis les expressions suivantes
1. A=x+14+2—4 4. D=—4+2x—10—-10x

2.B=x+6+3+2x—6 5, E=—-1—-8+8x+ 6 —4x
3.C=-3x+5+5z 6. E=22+3+3z+3— 10z

. —Tx(xr—(=7)enz=-10
. —Tx(x — (=7))enz = —10
.8z +T7)(-b—-2zr)enz = -2

. F=—6224+9—-22—2— 6z
.G=3224122 -9 -9+ 3z
. G=—2224+7—6x—62%2—2z

. —Tz(xr—(=7)enz=-10
. =Tx(x—(=T7)enz=-10
. Bx+T7)(-b—2zr)enz = -2

. F=—62249—-22—-2— 6z
.G=3224122 -9 -9+ 3z
. G=—2224+7—6x—62%2—2z

. =Tz(x—(=7)enz=-10
. =Tx(x—(=T7)enz=-10
. Bx+T7)(-b—2zr)enz = -2

. F=—62249—-22—-2— 6z
.G=3224122 -9 -9+ 3z
. G=—2224+7—6x—62%—2z



